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L ymwn: “split” 211y for consecutive days of 110 01 naw
a. 7?58 ’7. permissible to make 1 east for 1 day, the other west for next day
i. Or: to make it valid on one day and null for the morrow
b. owom there is no “split :7»”, not in direction nor for days (either both days or neither)
i. Solution for 210 oy 2 naw: take out on VY, return it after dark, bring it back on v”y and eat it there after dark
ii. 71 proof of license to split 117’y — it is two separate mwiTp
II.

Analysis of response of Dnan: NMNR MI=0>n> NV (i.e. their two claims are identical)

a.Solution: they argued that just as an 2y for Y2 day is invalid, so too for 1 of 2 consecutive days
i.

And: X" responded that in that case, it is 1 nw11p (a single day); as opposed to v"» followed by naw (2 mwrT)
ii. 71 argued that all agree that if he was 199n by walking on one day, he may walk in a different direction on 24
1.And: if his 2v1» was eaten before onset of 2" day — invalid, proving that it is 2 distinct mwyTp
2. oo 1Y is invalid due to doubt (if nnR NWYTP or MWITP 'MY)>we rule RIMNY in both cases
iii. ©2p5m we may not make an 2y on v"» which is v (2 NnNR NVITP)
1.477 indeed — but not for that reason, rather due to it being n1an
III. Related ®m»™a: 3-way dispute regarding mwiTp "Mw/nNnr NVITH

a.’27. if made 219y with his feet on 1% day, must make another for 279 if eaten on 1+t day, invalid for 2" day (mwTp '2)
b. 7172 77 if he wasn’t 9371 19yn for 27 day or it was eaten, Yn3 9nn (R1mnY in both directions — pav if 1 or 2 MwrTH)
c.27227 5¥ 123 »771 272w 7. no need to be 19371 1991 on 274 day; if eaten on 1% day;, still valid for 2" (> certainly nnx nwyTp)
d. Final ruling (37): follows 4 n»pr who adopted 71»9R "1’s position (mwiTp '2)
i. p2pr vy and 2727 YW N2 SRYNWY? 7 (kN1 should be corrected — they both agree with 111); w”ary and »an
1.Note: perhaps 4™ 1p1 is M1V 12 YR "
2.237. not listed, as he was just reporting but not subscribing to opinion

a) 27 had tradition that others weren’t merely reporting but also agreed that '8 mwiTp "2
IV. Reassessing 17's opinion (n" raised the challenge on the occasion of 8111 "7's passing)

a.Challenge: 21 ruled that an egg laid on v"v (if v"y) is prohibited on naw (>nnNX MV1TP)
i.

Defense (737): that is due to mdn, per v. 1 — 9n prepares for naw and v, but vV may not prepare for naw
ii. Challenge (»an): if that is considered n13n, how can he walk the 211» out on v which is v"y (per our nwn)?
1. Answer (737): the 23y is acquired at onset of naw (after v is done) — not at end of v"v-day
2.Block: if so, the case of the n"1n flask with the av (above) should be effective
a) Answer: we require a DY Twan nMRIN 1MYo
b)  Challenge: X5, you may have “split” 12y1y; the “off” one is inedible oy Tyan
i. Answer: they aren’t 2K mnr from each other; just 1K (and are within walking of each other)
¢)Challenge: nTv 11 ruled that if you use %311 231Y on 1% day, must do same for 2" day — nan?
i. Answer: if he says nothing, there is no n1n

1.And: that follows 172>, that nn»aw P1p Ipon *xan
2.Note: even 1”277 13121 would agree — since he could speak, he doesn’t need to
ii. Challenge (to »ax): had he heard ruling that we may not walk out to field on naw to check needs

1.0r: to stand at entrance of city in order to enter bathhouse immediately at w”smn
2.Then: he would have retracted his ruling
3.Rejection: he had heard it, but still wasn’t convinecned
a.Reason: in that case, it is clear that he is “conducting business”
i. But:in our case, if n"n, he looks to be lost in thought in his studies

ii. And if: an n"y, it looks like he is looking for a lost animal (e.g.)
V. Evaluation of statement of nT17 17 re: using na on second day

a.sN1pw. must use same na on 2" day

b. &1/ /1. that seems to be the import of our nwn, when it states 12511
c. 1227 perhaps the mwn is just providing a good suggestion (5"np n210 N¥Y)
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